
   

 

Business mathematics 
 

okf"kZd baVjehfM,V ijh{kk] 2018 ds ijh{kkfFkZ;ksa ds fy,  
izFke ekWd VsLV 

 

Time Allowed : 3 Hours              Max. Marks -100 
 

Group A 

Question carrying 1 mark. ¼iz’u dk eku 1 ua0 gS½ 
cgqfodYih; iz’u ¼Multiple choice questions½ 

      

1)  le kUrj  Js.k h 2] 5] 8] 11 ------------------------- dk 10 ok¡ in  dk  e ku gk sx k \  
(10

th
 term of the A.P. 2, 5, 8, 11 ………….. is)   

 

 (a)  47 (b)  33 (c) 37 (d) 29 

 

 

2) f uEuf yf [kr Js. kh  dk  dk Su lk in dk e ku 27 g SA  Which term will be 27 of the sequence. 

5, 7, 9, 11, ………………..  ? 

 

 (i) 13
th

        (ii)  12
th

         (iii)   11
th

           (iv)   10
th

   

3) n ks vadk sa dh  fd ru h la[; k,¡ 7 ls foHkk T; g S\ How many numbers of two digits are divisible 

by 7 ?  

 

      

4)  n

nc is equal to   

 (a)     0                  (b)    1              (c)     n             (d)  None of these  

5) 
; fn (If) A = 

3 6

5 4

 
 

− 
 v k Sj and B = 

7 8

5 6

 
 
 

rk s then find the value of 6A - 5B dk eku Kkr 

d jsaA    

 

6) f uEuf yf [kr esa ls d kSu lk  laca /k lR; g SA   
Which of the following relationship is correct.   

 

 (a)  . . . .A M G M H M×             (b)     H. . A. .M M G M×   

 (c)   G. . A. .M M H M×            (d)    G. . A. .M M H M×   

      

7) Choose the correct answer. lgh mÙkj pqusa %& 

,d ik lk Q sdk tkr k g SA 4 ;k  6 vad ik us d h iz kf;d rk gk sx hA   

A die is thrown. The probability of getting 4 or 6 is  

 

 
a) 

1

4
     b) 

1

3
       c) 

1

2
           d) 1.   

8) cju kSy h izes; ds tUenk rk Fk s  Father of Bernoulli theorem was-  

(a) lj  lseq;y cjukSy h Sir Samuel Bernoulli        (b) lj tsEl cjuk Syh  Sir James Bernoulli  

(c) lj  vycVZ cj ukSy h  Sir Albert Bernoulli  

 

 

9) Such variations which have regularity are called seasonal variations. It is true? 

os ifj oÙ kZu  ftue sa fu ;ferr k g ksrh gS] e kSleh  ifj or Zu d gy kr s g SA D;k  ;g lR; g S\ 
(a) gk ¡ Yes        (b) u g ha No  

 

10) 9 3

12 4
  d k e ku gSA  The value of   

9 3

12 4
  is  

 
(a)     0                 (b)    4            (c)     6           (d)  12 

 

 

 



     
11) 

; fn (If)      
3 1 4 7

. , .
7 6 5 2

A B
   
   
   

rks  (then) A+B =  

 

           (a)   
12 7

35 12

 
 
 

       (b)   
7 8

12 8

 
 
 

       (c)   
1 6

2 4

− − 
 
− 

     (d)   
3 7

5 6

 
 
 

    

 

 

12) 
3

a
p  d k e ku  gSA Value of 

3

a
p  is  

 

(a)  500                 (b)  504                    (c) 510               (d)   525 
  

 

13) f uEuf yf [kr le qPp ; ksa e sa d kSu le qPp ; ifj fer gS \ 
Which of the following sets is finite set?  

(a) iF̀ oh ij jg us oky s e uq";ksa d k le qPp ; Set of people living on the earth. 

(b) {x/x le iw. kk Zad  g S\{x/x is even integer? 

(c) 50 ls de /ku iw. kkZd ksa dk le qPp ;  Set of positive integers less then 50 

(d) ry esa mu js[k kv ksa d k le qPp ;  tks ,d  fu f’ p r fcU nq ls xqtj rh gSA Set of those lines 

which moves through a certain points of the surface.  

(e)   

 

14) f uEuf yf [kr esa f jDr le qPp ; dk Su lk g S\ Which is null set in the following?   

(a) 0            (b)  {0}      (c)  {Φ}   (d)  Φ   

(b)  

 

15) e ku  fu dkys % (Find)   4
x dx∫      

 Group B  

Question carrying 3 marks (lHkh iz’uksa ds eku 3 gSaA) 

16) Ø Se j fu; e ls f uEu leh dj. k d ks g y dh ft, %& 
Solve the following equation by Cramer’s rule :- 

2 5

3 1

x y

x y

+ =

− =
  

 

 

17) ,d lk /kk j.k  ikls dks Qsa d us ij 3 ls vf/k d d h la[;k vk us d h laHk kouk  fu dkf y,A   
Find the probability of getting a number greater than 3 when a dice is thrown.  

 

18) v kO ;wg  A Kkr d hf t, tcf d 2A-3B+5C=0   Final Matrix A Where 2A-3B+5C=0  

2 2 0 2 0 2
.

3 1 4 7 1 6
B and C

− −   
= =   

   
 

 

 

19) f uEuf yf [kr la[;k vk sa ds ch p  p k j lke kUrj ek/;  fu dky saA   
Find the four arithmetic mean between the following number ?  

                         4 and 19  
 

 

20) e ku  fu dkys % (Find)   ( )31 3x
x dx∫ + +      

 Group C  

Question carrying 5 marks (lHkh iz’uksa ds eku 5 gSaA) 

21) ; fn f dlh le kUrj J s.kh  dk  8 ok¡ v kSj  25 ok¡ i n Ø e’ k % 15 v kSj  49 g S rk s ig y k in v k Sj  lk oZ 
vUrj Kkr  dh ft,A   
If 8

th
 and 25

th
 terms of an A.P. are 15 and 49 respectively, then final its first term and 

common difference.  

 

22) 
e ku  Kkr dhft, Find the value of   

2 1

1

x
dx

x

+

−∫  
 

23) ; fn 4 35n n
c p= ×  r ks n dk ek u Kk r d jsaA   (If)  4 35n n

c p= ×  find the value of n.  



 

24) e ku  fu dkys ¼Find½ 
4 3 2

2

5 12 7x x x
dx

x x

+ +

+∫  

 

 

25) ,d fo|ky; ds Nk = ksa us j k"V ªh; lqj {k k d ks" k e sa fuEu izdk j va’ knku fd; sa %& 
Students of a School contributed towards National defence fund as follows :- 

Nk=  (Student)               10      15       24    30      21 

v' k anku izfr Nk= ¼:0½    5       4        3      2     1     

(Contribution per student) (in Rs) :-   

 

 

26) 20  Nk =k sa ds } kjk lkaf [; dh esa iz k Ir vad  fu Euf yf [k r g SA Hkwf; "Bd  Kkr djsa %& 
The following are the marks secured by 20 students in statistics. Find the mode.  

15,  10,  25,  30,  32,  16,  22,  24,  15,  17,  20, 

25,  27,  30,  38,  25,  28,  30,  35,  24. 

 

 Group D  

All Questions Carrying 8 marks (lHkh iz’uksa ds eku 8 vad gS) 
27) 14  Q qVck Wy d s f[ky kf M+;k sa esa ls 11 f [ky kfM +;ksa d h V he  fdrus rjh dksa ls p qu h tk ldrh g S] ; fn 

mu ds d soy n ks x k syd hij g S\  
In how many ways can a team of 11 be chosen from 14 football players, if two of them 

can only be goal keepers.   

 

28) e SfV ªDl f of/k }kj k f uEu fyf[kr  leh dj.k ksa dk gy dh ft , % 
Solve the following equations by Matrix method :  

             

5 3 16

2 3 19

2 4 25

x y z

x y z

x y z

+ + =

+ + =

+ + =

 

 

29) f uEuf yf [kr vk of̀ r forj. k ls cg qyd  Kkr dh ft, %& 
(Form the following frequency distribution find out mode.  

  
Size Frequency 

0-3 4 

3-5 3 

5-10 9 

10-15 15 

15-20 17 

20-30 20 

30-40 18 

40-50 25 

50-60 8 

60-70 3 
 

 

 

 

30) 

2

2 2

(1 )

(1 )

x x
e dx

x

−

−∫  
 

31) 60  Nk = ksa esa ls 35 Nk k= g k Wdh [ksy rs gS] 20 Nk = g kWdh  rF kk  fØ dsV nksu ksa [ky rs gSa] rk s (i) f drus 
Nk=  fØdsV [k yrs gSa] (ii) dsoy fØ dsV  [k syu s oky s Nk= k sa dh  la[; k Kkr  dh ft ,A    
Out of 60 student 35 play hockey, 20 play hockey and Cricket both, then find (i) the 

number of student who play Cricket (ii) the number of students who play cricket only.    

 

 


